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Candidate: 3.70Hz_Cand
Telescope: Arecibo
Epochtopo = 55932.68687498553

Epochbury = 55932.68284943834
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Search Information

= 19:16:43.7423

Best Fit Parameters
Reduced x? = 77.343
Dispersion Measure (DM; pc/cm”) = 57.615
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P(Noise) ~ 0

Binary Parameters

1400 1500

1300

= 65476e-05 P, (ms) =
= 3909120 Pyopo (5/5) =
= 8.548e+04
= 485.6
= 100 P, (s) = N/A
= 3.341e+09 a,sin(i)/c (s) = N/A
= 9.6e+04 Toer = N/A
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P—dot — 1.8758e—11 (s/s)

4x107%2x 1078

270.2505(11)
4.5(3.3)x1078
Popo (8/5%) = 0.0(8.4)x107"°

—2x1084x1076

0

Ppary (MS) =
e G

e = N/A
w (rad) = N/A
4xA1—(_)_6 2x10°5 (I) I—2xl10_sl—4x10
P—dot — 1.8758e—11 (s/s)
02 o 02
Period — 270.21629241 (ms)
Freq — 3.700739 (Hz)
—2x107° 0 2x1073
02 o0 o2

Period — 270.21629241 (ms)
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5x107°

= 09:52:38.3753
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4.5(3.3)x1078
bory (s/s?) = 0.0(8.4)x10719
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